Section 7.3:
Income Statements
Read pg. 344



1. Jack’s employer just switched to a new payroll system. He wants to make sure that
his net pay has been computed correctly. His gross pay per pay period is $587.34.
He has the following deductions: Social Security tax (6.2%), Medicare tax (1.45%),
federal withholding tax $164.45, state withholding tax $76.34, retirement insurance

contribution $50.00, disability insurance fee éml) edical Insurance fee $23.00, and
‘WB.UO

dental insurance fee Q‘ hat should his net pay be for this pay period?

Tax =taxable amount x rate as decimal . O(O’L _ éé_

Social Security tax = 587.34 x 0.062 = 36.42 l - 5 8—7 3 l..'

Medicare Tax = 587.34 x 0.0145 =8.52 SS - 3 (’ 7 Z
¢

Sum of deductions =36.42 + 8.52 + 164.45 + 76.34 + 50.00 + 2(8.00) + 23.00
—_—

Sum of deductions = 3 Z"*- 73
Net pay = gross pay - deductions

Netpay=537.34—j7lf- Z 2,2. bl

Jack’s net pay for this period is




2. Ataxpayer’s annual Social Security tax is $6,107. What is the taxpayer’s gross annual

salary?
' tax arnount 10(0’2— - (D ‘ O_-\
gross income , 6 (OSS (X)

cOOLX=(,|07
tax rate — O~ ’TO-E

A taxpayer with an annual Social Security tax of $6,107 has a gross salary of
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Tax rate =
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T 3. Use the partial information given in this electronic
Carb3et2 W-2 form to calculate the amount in Box 3.
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4. Tony makes an hourly salary of $11.50 for 40 reqular hours of work. For any time
worked beyond 40 hours, he is paid at a rate of time-and-a-half per hour. Last week,
Tony worked 46 hours. Find Tony's gross pay, Social Security tax, and Medicare tax.

11,50(40)=4 (6,0 Oxl(t’%\me?\d\“
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5. Ataxpayer's annual Medicare tax is $841. What is the taxpayer’s gross annual salary?
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6. Examine Alfredo Plata’s

incomplete W-2 form. 7
Based on the information [ 5w s wmires

in Box 2, determine the S,l,‘gkw!.,ﬂ dtm Blvd

amounts in boxes 1, 3,4, Seven Bridges. NY 10515
and 5.

DL T
Alfredo Plata

137 Michigan Rd.
Seven Bridges, NY 10515
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